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13»ACY 4831T3Y40)
&RCo

2561|05| 6 | 1 |PAcZT= UCc3T3IAC AR W ASYa0Al4Y (S 13eé»AcY 511,900.0 431,900.0 80,000.0
4A3T1=2Y40)
31 ATa0
1. T3Y34 T3A3[0Y»A¢ NgUya = 80,000.0 80,000.0 -
a3Na3vaoU
- Tal&sY3t 1=363{a0AlasyY»h 4213 20,000.0 20,000.0 -
-P3TA YAST3T3(CY 3 ViasA»h 4269 20,000.0 20,000.0 -
- AYA=6CT 1A=U3RYAANY»A &»nr313Y 4638 40,000.0 40,000.0 -
N=20=2Vo=CY =3¢ wA=ICY T3%UST»AAA0AIAYY»ACY
4. ECH3U3-»AC a»01400 ~ I3013837400 311,900.0 231,900.0 80,000.0
-D3TA YAST3T3(CY 3 ViasA»h 4269 18,000.0 18,000.0 -
- UTCA=T TasAlasyy»i 3l s=flasld al>r=ay1a 4819 213,900.0 213,900.0 -
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- 2[f AYA=6CT 1A3U3RYAANY»A

4639

5,000.0

5,000.0

u3Y14i0

70,000.0

70,000.0

- P»YU»AG * RCYATAIASYY»AC TSé45640U

5112

70,000.0

70,000.0

2630

06

2ASUZT313A30[a0U

5,121,648.0

5,121,648.0

anco’

2631

06

2303 T3T3A=3/40U

5,121,648.0

5,121,648.0

=t ATai0

1. UA3BYEC3IC D3YA3B{» T 40AIBY
I'363T73A40A13Y 3¢c31646A130u
CA3TI3Y36i40 @A "3YC
CASUBT3I3A3AU3Y " ci3N»é36U3Y
IA3-ACY TA3U31AT40 1»EYCI313Y
3c31640AI3Y TA3-CA (A3 ICAZTT3I
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31 ATa0
1. 2640c383N313Y Qui» TTY»AC 210,000.0 - 210,000.0
NeuY=Yana - 46U
- b»YU»AC ~ BCYASAIAGYY»AC TSACT3E I»Ai=Vafa-4U | 5113 210,000.0 - 210,000.0
2. Ar3A3U3 L0 N» T34 T 40AI40YY»AC 12,000.0 12,000.0 -
CAZT3Y3646U

46




= “laie»WS(CY TSES»AC -anT=63T3Y 136313703y | o 3 ATasu

= [l L U v Sn O s \empee

Ez 5 3 =2 HSAGYY»AC, EUPAC ~~ 138xAC, CYadne Y= 3 > AV12UsTA

o2 3| E Eﬂ plase» T SICY TSEE»AG 1Y 13 -Cor=T3Y 2= T35313Y plade» | yayr=(CY ulase»

a| = 12E313. U3V NALT2TY»AC 3V T2VAUT»AA =
1 (2|34 5 6 7 8 9

- @36Y=3-CU3T3Y 1363{a0AlasYV»h 4241 12,000.0 12,000.0 -

2800/08| 0 | O P20 £eT, @p2TaolA i Taal 2,647,776.0 1,856,776.0 791,000.0
31 ATa0

281008 | 1 | O |A3Y-EU¢ ~ ER4ATC I36340AI46YY»A 490,100.0 149,100.0 341,000.0
&RCo

2811|108 | 1 | 1 |[D3Y-&WwC ~ eAaNWC I363(40Al40YY»h 490,100.0 149,100.0 341,000.0
31 ATa0
1. 68401 3IgY UCca636460Y»AC 57,100.0 57,100.0 -
I3BU31>»A8400
- AY1R=V45 pYa&slAC 3 1=363(40A146YY»h 4239 57,100.0 57,100.0 -
2. D3Y-6WC -AWCY»AC ~ Hudé3|- CY»i¢ 381,000.0 40,000.0 341,000.0
136400400 40 3N&3Ya0U
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 40,000.0 40,000.0 -
- b»YU»AC " BCYABAIAGYY»AC T3é45640U 5112 341,000.0 - 341,000.0
3. P» [BYT3NABE3A3IC B3N3 - 4AT460 52,000.0 52,000.0 -
- AY2R=Vasn pYa&slAC 3 1=363(40A146YY»h 4239 52,000.0 52,000.0 -

2820|108 | 2 | 0 |@B3T40A3ICY [3E3A0AIAGY Y»ii 2,090,351.0 1,640,351.0 450,000.0
&RCo

2821/08| 2 | 1 |AZ13AZYY»A 184,489.5 184,489.5 -
31 ATa0
1. TASI3[3Y3(cY [363a0AlaoYY»i 184,489.5 184,489.5 -
- @AIPECLIC3Y»Ml 43 YCY3VEST3Y &»u3T3Y 4511 184,489.5 184,489.5 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y»ACY

2822|08| 2 | 2 |A3Y-3A3YY»h ~ 640626i3NY»i 253,038.5 253,038.5 -
31 ATa0
1. A3Y-3A3Y3(cy [363a0Alaoyy»i = 253,038.5 253,038.5 -
- BAIPECLIC3Y»Ml 43 YCY3VEST3Y &»u3T3Y 4511 253,038.5 253,038.5 -
(N=3U3YU=ICY) T3%UST»AA4A0AIAGY Y»ACY

2823/ 08| 2 | 3 |@R2TAIAC WY»A, STAUUY»A, T»YTRAYY»A 11,716.2 11,716.2 -
31 ATa0
1. D3U3Yo3igY UBZTE0IAC ~ 3331 A303Y6¢ 11,716.2 11,716.2 -
I33BU31>»A8400
- BABPECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 11,716.2 11,716.2 -
(N=3U3YU=ICY) T3UUST»AA4A0AIAGY Y »ACY
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31 ATa0
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2. T»y13y3y3y313Y 3. 45 253,464.9 253,464.9 -
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31 ATa0
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N3Ux»A - Y»i
- BAIPECLIC3Y»Ml 43 YCYSVEST3Y &»u3T3Y 4511 98,906.3 98,906.3 -
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2. AST»A3I3Y Y»Al3I3646U0Y»A 362,835.6 362,835.6 -
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31 ATa0
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a3Na3vaoU
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a=N&=vail
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2831|08| 3 | 1 |P»éaiewr=é31CaN=0an1460Y»h 36,000.0 36,000.0 -
31 ATa0
1. 303038»T3A3YC SRE3T3Y0Y»AC 36,000.0 36,000.0 -
f4063u=vYail
- @36Y=2-Cw3T3Y 1363{a0AlasYY»h 4241 36,000.0 36,000.0 -

2840|08 | 4 | 0 | TA&Y=13Y =~ N=363731313Y S 31,325.0 31,325.0 -
[ 36340440V Y»A
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2843/ 08| 4 | 3 | TARAY=T3Y ~ N3&3A3T3T3Y 3t 1363(a0Ala5YY»fi 31,325.0 31,325.0 -
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- AY2i=Y45R uYaslAc 3 1=363asAla6Y Y »fi 4239 1,600.0 1,600.0 -
- BAIPECIC3Y»A 43 YCYSYESTSY & 3Ty 4511 137,974.0 137,974.0 -
(R=0=3lYU=ICY) T3%HUST»AA&0AIAYY»ACY
2. UBE318A46313Y 466406603 200,000.0 - 200,000.0
13303 1>A803Y N303h SYNAZA»BT - 4dlu¢
O»éu u»fAasl
- 2 U»U»Y3Y»f " 8303 TaRAUY»h 5129 200,000.0 - 200,000.0
3. UBE3148046313Y 1nA&oAlasy 7,512.5 7,512.5 -
(B3TICAZIT31 LC3%4AA0AIA0Y Y1)
- AY2R=Vasn pYa&slAC 3 1=363(40A146YY»h 4239 7,512.5 7,512.5 -
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- AY2R=V45 pYa&slAC 3 1=63(40A146YY»h 4239 184,274.2 184,274.2 -
3. U»A36313Y 1hA4oAlacy 625,069.8 625,069.8 -
- AY2i=Y45R pYaslAc 3 1=363a0Al4a6Y Y »fi 4239 625,069.8 625,069.8 -

2920|109 | 2 | O |@CcY31=3h- AYIN3Ya6h TAA40Ala6Y 9,069,256.1 9,069,256.1 -
afigo"

2921/09| 2 | 1 |BCUY=T=3Y AV1N=Vasn TrA&sAIASY 8,816,454.2 8,816,454.2 -
=1 A4
1. D3YASTAAST3Y 406406460 7,967,677.7 7,967,677.7 -
- AY1R=V45 pYa&slAC 3 1=363(40A146YY»h 4239 7,967,677.7 7,967,677.7 -
2. D37 461 17A46AIa6Y 198,449.2 198,449.2 -

49




= ol “laie»WS(CY TSES»AC -anT=63T3Y 136313703y | o 3 ATasu
= = % = u?ACYY»ﬁQ, Epp»ﬁ(; T 13ExfC, CYiare Y3 3 = AV130»YA
,:g Z 3| E EB" plase»w3IcY I:?Eé»ﬁ(; WY T»E3-CI3T3Y Eﬁ = T3A8313Y pladc» | yayr=(CyY ulase»
a| =2 1363737 U3Y NAaL TSIV 3V T3Va50Y»iA =
1 (2|34 5 6 7 8 9

- AY1R=V45 pYa&slAC 3 1=363(40A146YY»h 4239 198,449.2 198,449.2 -
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